
 

N= 40 

R= 15 – 5       R= 10 

K= 1 + 3.322 * log (40) K= 6.3230   K=6 

A= 10/6 = 1.666      A= 2 

X= 
     

 
 

fr=
 

 
 

 

CLASES x f fr F 

Li [5 – 7) Ls 6 11 0.275 11 

[7 – 9) 8 12 0.3 23 

[9 – 11) 10 9 0.225 32 

[11 – 13) 12 4 0.1 36 

[13 – 15) 14 3 0.075 39 

[15 – 17) 16 1 0.025 40 

  40 1  

 

 

  



 

N= 30 

R= 46 – 13        R= 33 

K= 1 + 3.322 * log (30) K= 5.9069   K=6 

A= 
 

 
   A= 33/6 = 5.5   A= 6 

X= 
     

 
 

fr=
 

 
 

CLASES x f fr F 

Li [13 -19) Ls 22.5 9 0.3 9 

[19 – 25) 31.5 9 0.3 18 

[25 – 31) 40.5 5 0.1666 23 

[31 – 37) 49.5 2 0.0666 25 

[37 – 43) 58.5 2 0.0666 27 

[43 – 49) 67.5 3 0.1 30 

  30 1  

 


